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Choose the correct option                      (1 x 15=15) 

1.   ∫ 𝒆𝟓 𝐥𝐨𝐠 𝒙 𝒅𝒙  = ?  

a) 
𝒆𝟓 𝐥𝐨𝐠 𝒙

𝟓
 

b) 
𝒆𝟓 𝐥𝐨𝐠 𝒙

𝟓 𝐥𝐨𝐠 𝒙
+ 𝒄 

c) 
𝒙𝟓

𝟓
+ 𝒄 

d) 
𝒙𝟔

𝟔
+ 𝒄 

 

2.   If ∫
𝒅𝒙

𝒙𝟐−𝒂𝟐
= 𝒌 𝐥𝐨𝐠 |

𝒙−𝒂

𝒙+𝒂
| + 𝒄, then the value of k is –  

a) 
𝟏

𝒂
 

b) 
𝟏

𝟐𝒂
 

c) 𝟐𝒂 
d) None of these. 

 

3.   ∫ 𝐬𝐢𝐧 𝒙° 𝒅𝒙 is –  

a) 
𝝅

𝟏𝟖𝟎
𝐜𝐨𝐬 𝒙° + 𝒄 

b) 
𝟏𝟖𝟎

𝝅
𝐜𝐨𝐬 𝒙° + 𝒄 

c) −
𝟏𝟖𝟎

𝝅
𝐜𝐨𝐬 𝒙° + 𝒄 

d) −
𝝅

𝟏𝟖𝟎
𝐜𝐨𝐬 𝒙° + 𝒄 

 



4. The value of ∫ 𝟐𝟑𝒙𝒅𝒙 = ?  

a) 
𝟐𝒙

𝟑𝐥𝐨𝐠 𝟐
 

b) 
𝟐𝟑𝒙

𝟑𝐥𝐨𝐠 𝟐
+ 𝒄 

c) 
𝟑×𝟐𝟑𝒙

𝐥𝐨𝐠 𝟐
+ 𝒄 

d) 𝟑𝐥𝐨𝐠 𝟐 × 𝟐𝟑𝒙 + 𝒄 

 

 

5. The value of  𝐥𝐢𝐦
𝒙→𝟐

𝐥𝐨𝐠(𝟐𝒙−𝟑)

𝟐(𝒙−𝟐)
= ? 

 

a) 
𝟏

𝟒
𝐥𝐨𝐠𝒂 𝒆  ,      b)  1     ,      c)    

𝟏

𝟐
     ,     d)    𝐥𝐨𝐠𝒂 𝒆 

 

 

6. The value of  𝐥𝐢𝐦
𝒙→∞

𝒙
𝟑

𝟐 (√𝒙𝟑 + 𝟏 − √𝒙𝟑 − 𝟏) = ? 

 
a) 1   ,      b)  𝟎  ,      c)    e     ,     d)    -1 

 

 

7. The value of  𝐥𝐢𝐦
𝒙→𝟎

(𝟏 + 𝟒𝒙)
𝒙+𝟐

𝒙 = ?  

 
a) 1   ,      b)  𝟎  ,      c)    𝒆𝟖     ,     d)    Doesn’t exit. 

 

 

8. The value of  𝐥𝐢𝐦
𝒙→𝟎

𝒆𝒙𝟐
−𝟏

𝒙
= ? 

 
a) 1   ,      b)  𝟎  ,      c)    𝒆−𝟏     ,     d)    Doesn’t exit. 

 



 

9. The value of  𝐥𝐢𝐦
𝒙→𝟏

𝐥𝐨𝐠 𝒙

𝒙−𝟏
= ? 

 
a) 1   ,      b)  𝟎  ,      c)    e     ,     d)    -1 

 

10. The value of  𝐥𝐢𝐦
𝒙→𝟎

𝐥𝐨𝐠(𝟏+𝟒𝒙)

𝟑𝒙
= ? 

 

a) 4   ,      b)  3   ,      c)    
𝟒

𝟑
     ,     d)    

𝟏

𝟏𝟐
 

 

11.    The function 𝒇(𝒙) = |𝒙| 𝒊𝒔 − 
 

a) Continuous at all real values of x 
b) Discontinuous at x=0 
c) Continuous only at x=0 
d) None of these. 

 

12. The function 𝒇(𝒙) = 𝒙 − [𝒙] , where [. ] denotes the greatest integer 
function, is -  
 
a) Continuous everywhere. 
b) Continuous only at non-integral values of x. 
c) Continuous at all integral values of x. 
d) Differentiable everywhere. 

 

13. The set of points where the function  𝒇(𝒙) given by  𝒇(𝒙) = |𝒙 − 𝟑| 𝐜𝐨𝐬 𝒙 is 
differentiable , is –  
 
a) ℝ 
b) ℝ − {𝟑} 
c) (𝟎 , ∞) 
d) None of these. 

 

 



 

14. Let the function 𝒇(𝒙) = |𝒙|.Then at 𝒙 = 𝟎 the function is – 
 

a) Not Continuous . 
b) Continuous but not differentiable 
c) Differentiable but not Continuous 
d) Differentiable and Continuous. 

15. The point of discontinuities of the function 𝒇(𝒙) =
𝒙+𝟐

𝟐𝒙𝟐−𝒙−𝟏
 are -  

 

a) 
𝟏

𝟐
, −𝟏   ,      b)  −

𝟏

𝟐
, −𝟏     ,      c)    −

𝟏

𝟐
, 𝟏        ,     d)    

𝟏

𝟐
, 𝟏    
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